	Если очаг пожара не будет найден 

(нормальные условия)
Pmax.пад =  Pmin вкл – 10
                  2,5

Pк. вых.= Pmin.вкл  –  Pmax.пад   

ΔT =  Pmax.пад * 7

           40 * 1,1

Tвых  = Tвкл  + ΔT

Если очаг пожара будет найден 

(нормальные условия)
Рк.вых. =  max.пад.давл. +  ½ max.пад.давл.  + 10

                                     до очага                       до очага
Траб. =  (наименьш.  давл  -  Рк.вых) * 7  / 40*1,1

                                                        у очага

Тобщ. =  ( Рнаименьш..давл  -  10) * 7  / 40*1,1

                                          перед входом
Твозвр. =  Твкл. + Тобщ.

Тк.вых. =  Точ. + Траб
	Если очаг пожара не будет найден 

(сложные условия)
Pmax.пад =  Pmin вкл – 10
           3

Pк. вых.= Pmin.вкл  –  Pmax.пад   

ΔT =  Pmax.пад * 7

            40 * 1,1

Tвых  = Tвкл  + ΔT

Если очаг пожара будет найден 

(сложные условия)
Рк.вых. =   2 Рmax.пад.давл. + 10

Траб. =  ( Рmax.пад.давл  -  Рк.вых) * 7  / 40*1,1

                                                        у очага

Тобщ. =  ( Рнаименьшее .давл  -  10) * 7  / 40*1,1

                                            перед входом
Твозвр. =  Твкл. + Тобщ.

Тк.вых. =  Точ. + Траб
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